Subject: Re: BAR_PLOT restricted to 60 element ARRAY??
Posted by Ben Panter on Thu, 07 Jul 2005 14:20:18 GMT

View Forum Message <> Reply to Message

liko2@o2.pl wrote:

> Yghh...Turned out that histogram isnt good option, because for 2 exacly
> the same numbers beside each other it creates one, wider bar and | need
> two of them in such case(each value must be representated by one

> bar)...Any other suggestions?

In addition to the polyfill routine mentioned before, you can use plots
to draw lines.

Use
plot, .... , psym=10

to draw the plot, then run a for loop on plots to draw the lines between
bins. You could probably do something a bit more efficient than a for
loop with shift and rebin if you had time on your hands.

Ben Panter, Garching, Germany
email via www.benpanter.co.uk
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